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LAMPIRAN 9 

SKOR HIPOTETIK 
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SKOR HIPOTETIK 

A. Prasangka 

a. Total Aitem   = 24 

b. Xmin   = ∑aitem x skor terkecil pada skala  

= 24 x 1 = 24 

c. Xmax   = ∑aitem x skor terbesar pada skala 

= 24 x 4 = 96 

d. Mean   = ½ (Xmax + Xmin) 

= ½ (96 + 24) = 60 

e. SD   = 
1

6
 (Xmax – Xmin) 

= 
1

6
 (96 – 24) = 12 

Kategorisasi  

f. Sangat Rendah  =  X < (µH – 1.8 σH) 

= X < (60 – 1.8 x 12) 

 = X < (60 – 21,6) 

 = X < 38,4 

g. Rendah   = µH – 1.8 σH ≤ X ≤ µH – 0.6 σH 

= 38, 4 ≤ X ≤ 60 – 0.6 (12) 

= 38,4 ≤ X ≤ 52,8 

h. Sedang   = µH – 0.6 σH < X ≤ µH + 0.6 σH 

= 52, 8 < X ≤ 60 + 0.6 (12) 

= 52,8 < X ≤ 67,2 

i. Tinggi   = µH + 0.6 σH < X ≤ µH + 1.8 σH 

= 67,2 < X ≤ 60 + 1.8 (12) 

= 67,2 < X ≤ 81,6 

j. Sangat Tinggi  = X > µH + 1.8 σH 

= X > 60 + 1.8 (12) 

= X > 81,6 
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B. Stereotipe 

a. Total Aitem   = 22 

b. Xmin   = ∑aitem x skor terkecil pada skala  

= 22 x 1 = 22 

c. Xmax   = ∑aitem x skor terbesar pada skala 

= 22 x 4 = 88  

d. Mean   = ½ (Xmax + Xmin) 

= ½ (88 + 22) = 55 

e. SD   = 
1

6
 (Xmax – Xmin) 

= 
1

6
 (88 – 22) = 11 

Kategorisasi  

f. Sangat Rendah  =  X < (µH – 1.8 σH) 

= X < (55 – 1.8 x 11) 

 = X < (55 – 19,8) 

 = X < 35,2 

g. Rendah   = µH – 1.8 σH ≤ X ≤ µH – 0.6 σH 

= 35,2 ≤ X ≤ 55 – 0.6 (11) 

= 35,2 ≤ X ≤ 48,4 

h. Sedang   = µH – 0.6 σH < X ≤ µH + 0.6 σH 

= 48,4 < X ≤ 55 + 0.6 (11) 

= 48,4 < X ≤ 61,6 

i. Tinggi   = µH + 0.6 σH < X ≤ µH + 1.8 σH 

= 61,6 < X ≤ 55 + 1.8 (11) 

= 61,6 < X ≤ 74,8 

j. Sangat Tinggi  = X > µH + 1.8 σH 

= X > 55 + 1.8 (11) 

= X > 74,8 

 

 


